EARAZROREIERT — 2 N—XBISY —F 201456848 (k) 4EIPI5I2H

M 7Ly aCh (hRBE) Y 5R2EHE (xwlw | lmEmml - |5 ) 0w 8
[A&4] 1 7% :1,500,000 @ 23 :300,000 ~ 33#&:225,000H  43#&:150,000 @ .~ 5 & :75,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
i 6 NRLL—5— 4 2 gﬁ&g&i 1:(0_2).2 4-4 37.4| — 1 526 E;%g (AcizE)
QST BALLTHT— S e
2 3| F>E—-X i 2 ;E;“%i‘fﬁ (1:02.5) 3-3 38.1| — 2 | 440 /szi)“ﬁ é{tﬁi‘é)
. 11/2 _ >
L:TVHA XTI K B X—TH1> =) S % —#ig
3 0| TyRLX o2 ﬁ*giﬂﬁ 1:02.9 2-2 38.7| — 3 480 ﬂ!(g?*g_({tiﬁﬁi%
. 2 _ P
R:Z2=—bE—1 B:O4y bRE—h @ )1 55% kain
4lsl5|VvoTET Y %2 | BLBE 1:(064).1 44 393 — | 4 | 480 Eﬁ%ﬁi (i)
RAR=wTT L BHATANTT i
1 2 MREREA =2 o2 | BARAH o 6-6 304 — | 6 | 440 ;ng (i)
RV FdATYA LK B:eHNIARS =) KT 7 — L
6l111|&21E1HY 5 i 2 \Ej%g‘ﬁ‘é 1(/(\)1;)7 1-1 40.7 — 5 444 Ei;g (AemiE)
R:TFGATLH— B2 1IN =) A AR
718l 9| /NET~RINE~ it 2 fifﬁ#ﬁﬁ 1:(0;.3 6-7 40.0| — 3 380 gﬁ:gﬁ (Aimd)
QTSI ERY—K BFAFIRE—%> ) g s
slals HYE A TS i 2 5;?—5&1 (17(}8#') 6-8 428 — 7 418 EE;@;%E)
RihN=Z— B:TL—34 ) 5505, -4
gl7|7|1Fv=oyx— #Ho2 Jslﬁﬁk 1:(08.8 99 |41.3] — | 9 | 48 iggg (Claz:2)
. 3) -
Qih—b FFHY DT S| Dissns
® I—F—@EBIERL
13—-7-
23—7F—
30—F+— 1,2,3,(5,6),(4,8,9),7
43—F— |1,2,3,(56),4,9,8,7
[ N5
B 6 220M 794K 3-6 220M & 3-6 870M &R 2-3-6 700M
# B 6 100 2-6 240 B E 3-6 610M EE 6-3-2 3,520
3 110 2-3 280M B H 6-3 1,400/
2 1509

ABICOVWTRDTEEERROODE. TR LIV,



